DIvISION WITH A REMAINDER II (H - SET 1)

DIVISION WITH A REMAINDER Name:
Time: Score: y—
301) 9827 +5 = 106 7508 +4 =
920 19170 =5 = 07 35294 +4 =
393) 7H88 + 1 = 08) 2367+ 1=
300) 340 = 5 = 109 19565 + 3 =
395 35470 + 8 = 10 23305 + 8 =
806 2015 +2 = 645 +2 =
907 7490 + 2 = 120 9004 =2 =
398) 28552 = 5 = 13) 34570 = 7 =
399) 23514 = 5 = 14) 60516 = 10 =
00 91435 + 10 = 115 36574 =+ 10 =
101) 6685 = 4 = 16) 21949 = 3 =
102) 86525 + 9 = an 934 -1 =
03 68551 + 8 = a8 37523 + 8 =
101 4836 = 2 = 19 17174 +2 =
105 51448 = 6 = 1200 39494 +— 7 =
Mathematics: Division - Level § - Horizontal - Set 1 15 culu
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